H O

=0 o
202359 =204k LB HMSASEN
SN HETED
M M|oIZet AH(IIL2E/HSK)
el HSAE &S (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
HMsASH 28,552,311 13,453,282 15,099,029
s 1,632,000
| 1,560, 146
& 5,724,307
Al 18,698,864
CH 800,000
= 136,994
HsolZe RE(SsL 22 /M=) 27,321,120 12,521,843 14,799,277
= 1,632,000
| 1,560, 146
& 5,724,307
Al 17,467,673
CH 800,000
= 136,994
HSAE &5 21,430,799 6,666,997 14,763,802
s 1,632,000
| 950,000
& 5,479,000
Al 12,569,799
CH 800,000
S3HMSAE 29 294,000 624,000 A330,000
401 Al&HIZ 2 0HY| 294,000 424,000 A 130,000
01 Al&HI 292,380 424,000 A131,620
OL=FEZMSAE SXNES
3,000,000 *200H 2~ 60,000
SIEETIEIER
3,000,000 * 1842 54,000
OMEEX s7E 2=+
100, 0002 *800m *99., 1% 79,280
OJlE2s RE32Ae BEE 0 WS F4
201201 0i144)
200,000& *500m"*99. 1% 99,100
03 Al S0HHI 1,620 0 1,620
OMEEX s7E e+
100,000 *800m" 0. %% 720
OJlZeE |ETZYUS 288 =0 HSTY T4
(Z=R1E01014)
200,000&*500m"*0. 9% 900
SUIMSAE 29 160,200 107,560 52,640
201 ZEt23| 10,200 7,560 2,640
02 B322H| 10,200 7,560 2,640
OsRE M3 300,0002 %12 3,600
ONEEX MSAIE &8IR=
550,000&+12& 6,600
401 AI&HIZ 2 0HY| 150,000 100,000 50,000




fal

SA HSTED
H: [YROIT2t (2L
el MSAL 2= (chel: =i
_ _ =]
A - B B9(3]) - HIZAI - BES Ol bt e imE==1
01 Al&HI 150,000 100,000 50,000
OSUHSAIE 25J|17 &
4,000,00024*207H A 80,000
OSUIHSAIE & 2=0|7 DAl
4,000,00024* 1070 A 40,000
OSUHMSAE 25717 B4
200,000 150& 30,000
AZAl AUHSER 29 1,701,804 1,494,133 207,671
101 Q14| 769,294 700,783 68,511
04 JIZH2RIEES 769,294 700,783 68,511
Oal+ga #ad o2y 69,094
-Jle3 76,9602 *2 % x2602 40,020
—TR+d 76,9602 x22 %522 8,004
—5het
76,9602 % 1. 522 x582!%0. 875 11,718
—AZteleagt
9,620 % 1. 5H* 1Al 222 %2602 7,504
—oXR2EIILY
76,960 20%2% * 122 1,848
OPHH olel 98,010
—Jl=3 76,9602 x3% %260 60,029
— 54 76,9602 x33 522! 12,006
—5oct
76,9602+ 1. 5HH*x3Hx58%0.875 17,576
—AlZte|2act
9,62020%1. 5UH*0 . 5A| 232 x260 5,628
—oXRIEIILY
76,9602 +3Hx 12 2,1
Ot ol 149,676
—Jlza 83,3602 x4 %2602 86,695
—F54g 83,3602 x4 x522! 17,339
=]
83,3602 1. 5HH*x4Hx5820.875 25,384
— A2ttt
10,4204 %1 . 5H* 1Al 2422602 16,256
—oXRIEIILY
83,3602 *4 2 122 4,002
OMSXEIHAY 8, A 2H) ol 396,654
=2 93,4402 %102 *260L! 242,944
—=54 93, 4402 %102 %522 48,589
=]
93,4402%1 . 5% 10H+582*0. 875 71,132
—Al2te|2act
11,6804 %1 . 5HH*0 . 5AI2H10H*260 22,776
—XRIEIILY
93, 44024 % 102 * 122 11,213




2N HSTED
HE: K0T} RE(2HL2Z/HK)
Sl HSAIL 25 () 25
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OAl+ZZ 2924 g&2
2,940,00021% 192 55,860
201 B2y 686,410 568,350 118,060
01 AtRZ2l] 60,940 50,480 10,460
Ooz2= M 2.0002%2,5008 5,000
OAlll4oE 29 g2 7g
20,000,000 * 14! 20,000
OAllH4AE AQZE 9
1,000,00024% 122 12,000
OZA ALR2telt] 3,000,0002* 14! 3,000
O&=J| eEgs 35,00021%10CH* 122 4,200
oultl eEg= 30,00021%13CH* 122 4,680
OKlEIE 55 22
600,000 * 122 7,200
QA4 5R31E 7o
3,0002*1,0000H 3,000
OY4z gaig 2 22
300,00021*38F A 900
O34 2A1F N 80,0002%123] 960
02 2Z2%Y| 625,470 517,870 107,600
0222 < HA 468,000
—&Ik=s 12,000,000 * 122! 144,000
—dotE 23 12,000,0002* 122 144,000
== 600,000 #2521 * 122 180,000
OFIIAIA SXIZ2| CHat
850,000+ 122 10,200
OS2IIAA SRRl h3
200,0002* 122 2,400
OABIAIA SRR CHat
275,000+ 122 3,300
OABA ESEURH
2,000,00021%13) 2,000
OABA ZE)|ISEH
2,000,00021%13] 2,000
OMEZ SX|22| et
400,0002* 122 4,800
OALIAHE FIIAL SX24
1,000,0002 %103 10,000
OAILHAE JIHAIE SN2
1,000,0002%103] 10,000
OaU+3E 45 30,0002 %252+ 122 9,000
OCCTV = Alztelt] 300,000 * 16CH 4,800
OREYS A2 20,0002 *23CH* 122 5,520
O%HeIAAE S A&
1,000, 0002/ % 122 12,000
OB M2 3,000, 00024*24! 6,000




SA: ASTED
M HK0Tet PE(SSUR/HS)
&2l HSAE &5 (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OAU+I& 26 =24
1,500,0002!%235] 3,000
OALLE HARY
2,00024%25]%5, 800 23,200
OAfLLE o0 A 2
100, 00024+45CH 4,500
OA4LT ZHOIX SX22
5,000,00024* 14! 5,000
OSets|A22] L HOIE2IAAY S
= 10,200
—SEYVRIAAL QX 2%
550,000 * 122 6,600
~HOIER2INAL SX B2
300,00024% 122 3,600
OAHSAR HSAIL HHAIH DS Jte)
15,000, 0008 %14! 15,000
OHRPE AES FIIQHBABAL 242
5,000,0002/%23] 10,000
Ozl 50,00024%13] 50
O3 223 HIIZA
1,500,000 *3CH 4,500
206 M= 15,500 12,500 3,000
01 M=l 15,500 12,500 3,000
OFII, I &l 222 ¢
1,000,0008!%23] 2,000
O+=e|E pHEZH 72
500,0002/+63] 3,000
O+z=zelg STN 2L
500, 0002 *63) 3,000
O+=T2IE ASH(FLY) 72
500, 0002 *63) 3,000
OZ7 ¢ =z 79
300, 000253 1,500
02 24 228 HH 7
500,0002/+63] 3,000
301 YBE A2 154,400 147,500 6,900
14 JIEI2 A2 154,400 147,500 6,900
AlAGEE D202 29 LAI2 154,400
—R2Jt ZAtE 40,00021%23|x260 20,800
—ZREA LA
40,00021%23]x260 20,800
—20d ZAE 40,0002 *23] %260 20,800
— 4 (MIEEIY) LA
40,00021%43] %260 41,600
—OFROF2Y! AR
60,00021%35|x280 50,400
401 AIEHIZL S| 70,800 40,000 30,800




SM: HSIED
M YTt PE(2I}LAZ/HR)
&2l HSAE &5 (crel: M)
_ AE]
SA - M - S9I(3|H) - HIRA - BaS Ol kot e limE=
01 AI&H] 70,800 40,000 30,800
O2%J| ZH nH 10,000,000+ 14! 10,000
OISR Al 2K B4 25,000
—3HE(LOME) L2 Rl B
15,000,0002 %14l 15,000
—BAZ AHZE R B
10,000,000 * 14! 10,000
OUSHY ST HMIE &X
700,0002!* 14} 9,800
O+YE HE 201H Ax
2,200, 0002 *5CH 11,000
OXBHADH LA ML R
5,000,000 %14l 5,000
OAIYSYE LY T
10,000,000 * 14! 10,000
405 XHAHE EH 5,400 25,000 19,600
01 RALEEF EH| 5,400 25,000 A19,600
Oflz HA0| 72 1,000, 000 *4CH 4,000
OMIEI 2 800,00024*1CH 800
OUEERIAIH 2 600, 00024 *1CH 600
TEERNEEREES 207,7% 167,695 40,100
201 2B 130,220 124,120 6,100
01 AFR2elY] 10,800 10,800 0
Olfsr=asas AQZ J19f
300,00024% 122 3,600
O/IZIE 55 242
30,0002 *8H AH62 1,440
Otfst=AsEaE =4 72 M
30,0002 *2 K| E*1241+83 5,760
02 22| 119,420 113,320 6,100
OMIe= 4,000,000 * 122 48,000
OZAINA 23 1,000,000 122 12,000
Ol 23 300,000 %122 3,600
OFI|&H| QHMBRIHE 242
1,000,000 * 122 12,000
OAZtAY| QHMBRIHE 242
300,0002* 122 3,600
OAZAIE SatEY &
1,800,0002 %13 1,800
OArgal| 2HE)|1sHA
1,800,000 13 1,800
OZZIIAAE S22l
180,0004% 122 2,160
Oljst=asas 283 A
1,000,0002 %23 2,000
OUfsH=AlZdR AS 500,000 *63] 3,000




2A: MSESD
M Yoot PH(2ILAZ/AS)
Rl MSAIE 28 (EERSED)
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
OAIEZH| S 300,000 %12 3,600
(@F=FEnt=ae: 2 0004, 500 M *23) 18,000
Ogugs AR 35,00021% 1 CH* 122 420
Ostles 120,000 * 12 1,440
OUEt=AZEE oA 2HA 2H
3,000,0002* 14! 3,000
OLUSTAA 242(5Y)|, 2LS)
3,000,0002 % 14! 3,000
206 | 575 575 0
01 XHEHl 575 575
O27 ¢ =z ¢
100,0002 %43 400
OHlagE)| KR8 2A(FR)
1,3402%130 £ 175
301 BB 52,000 35,000 17,000
14 J[EIEAS 52,000 35,000 17,000
Omz0y AA2 52,000
—=d 40,0009 %33 260! 31,200
—=d=2y 40,0002 23| x260 20,800
ENEREET] 25,000 8,000 17,000
01 Al&H] 25,000 8,000 17,000
OUst=AZEE Ald2 SXE4
25,000,000 %14l 25,000
(D) M STATH (SFTLUSHMSTH SZH) (HEAIY) 5,300,000 0 5,300,000
[ 2,730,000
Al 2,570,000
ENEEEET 5,300,000 0 5,300,000
[ 2,730,000
Al 2,570,000
01 Al&H] 5,286,750 0 5,286,750
Ol MBS S2Y =4
5,300,000, 00024%141x99 . 75% 5,286,750
[ 2,730,000
Al 2,556,750
03 AlZ=THHI 13,250 0 13,250
OY=eal MEHS2Y =4
5,300,000, 0002 * 1A1%0.25% 13,250
(RVALIAZAA TAALS 2,632,000 1,473,609 1,158,391
z 1,632,000
Al 1,000,000
401 A& HIL S 0HY| 2,632,000 1,473,609 1,158,391
z 1,632,000
Al 1,000,000




b

2A: HKXED
B HigelTe DE(2IURE/HK)
CHol: RISAIE BHE (crol: =
SN - BB - S(3H) - MISAY - BAS ollAbol ] Hm=2
01 Al&H] 2,622,525 1,473,609 1,148,916
OAZZAZAA XN
2,632,000,00021*141%99. 64% 2,622,525
g 1,632,000
Al 990,525
03 A& 20HY| 9,475 0 9,475
OAZZAZHA XN
9,475,000 14! 9,475
(Z)EFAIRISSE MEH S22 Z4(MEAIY) 4,985,000 1,300,000 3,685,000
& 1,824,000
Al 3,161,000
401 AIEHILE20HY] 4,985,000 1,300,000 3,685,000
< 1,824,000
Al 3,161,000
01 Al&H| 4,971,541 1,300,000 3,671,541
ONRISSR MEHSDY X4
4,985,000, 000& *141%99 . 73% 4,971,541
& 1,824,000
Al 3,147,541
03 A& 20HY| 13,459 0 13,459
ONRISSR MEHSDH X4
13,459,000 14! 13,459
2I|1S S22 MENS2E XA (NLAZUSI12) 800,000 0 800,000
CH 800,000
401 A|EH|ILE0HY] 800,000 0 800,000
CH 800,000
01 Al&H] 800,000 0 800,000
O35 S82 MENSEY ZHAIE
800,000,000 * 14! 800,000
CH 800,000
(2)d=x E)|12=22 =325 e 1,000,000 0 1,000,000
J| 300,000
Al 700,000
401 AIEHILE20HY] 1,000,000 0 1,000,000
J| 300,000
Al 700,000
01 Al&H| 1,000,000 0 1,000,000
O3J&=sd 5728 e
1,000,000,000& 14! 1,000,000
J| 300,000
Al 700,000
()93 AMIS2=EH HILIAR e 1,300,000 0 1,300,000
J| 650,000
Al 650,000




M MSAUEDL
M M|oIZet AH(IIL2E/HSK)
&2l HSAE &5 (crel: M)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
401 AIEHIZ 2 0HY| 1,300,000 0 1,300,000
| 650,000
Al 650,000
01 Al&Hl 1,300,000 0 1,300,000
OAIRI2SE HILIAZ JHE=
1,300,000,00021% 14! 1,300,000
| 650,000
Al 650,000
()2 SI12=32 HLUAE HIDIEEXI(XESAIY) 3,000,000 0 3,000,000
& 900,000
Al 2,100,000
401 AIEHIZL S CHY] 3,000,000 0 3,000,000
& 900,000
Al 2,100,000
01 Al&HI 3,000,000 0 3,000,000
O371Z=3& HUAZ HIDIEEX]
3,000,000,000& 14! 3,000,000
& 900,000
Al 2,100,000
(D)SEFHOIESHANEES 50,000 0 50,000
L= 25,000
Al 25,000
401 AIEHIZL 2 CHYI 50,000 0 50,000
& 25,000
Al 25,000
01 Al&HI 50,000 0 50,000
OHOIESHEAE B
25,000, 0002 *270 2 50,000
L= 25,000
Al 25,000
Hsed =4 5,890,321 5,854,846 35,475
| 610, 146
& 245,307
Al 4,897,874
= 136,994
AMNH=323 179,520 237,278 AbB7,758
307 212t0]1 & 179,520 237,278 A57,758
03 QIRIAHHBEE2IHIEX 179,520 237,278 A57,758
ORFANRS 22 (REE Ho)
179,519, 0403 * 14! 179,520
AEX0PIE 243t 47,315 110,774 263,459
101 eI44| 11,315 10,774 541
04 JIRHHI2Z2 X EE 11,315 10,774 541
O&Xlzd | & 25 sl =& 11,315




SN HSNSD
Ho: ST} PEH(SIILBZ/ASK)
el dsed & (Crel: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
—Jlzg 76,9602 12451202 9,236
—FH+E 76,9602 1245222 1,694
—tmaEsg 76,9602 x 1«5 385
201 LBr2%H| 6,000 0 6,000
01 Al 22 6,000 0 6,000
OFSINE= S 6,000
—HNEH /X B2SE MR
6,000,008 14} 6,000
307 2I2F0IA 30,000 100,000 270,000
02 QIZFEMAIIER 30,000 100,000 270,000
ONLEA= ABERY AOIZER NR(2XES
HoH) 10,000,00021%14] 10,000
OFXEY |X NBAMY(EEE HH)
20,000,000+ 14! 20,000
N 74,420 70,420 4,000
301 YerEA g 3,420 3,420 0
IERCEDEE] 3,420 3,420 0
OFZHONI RSS! FILK 01|
90,0008+ 132 1,170
OXHIZ2LHSH & XY iy
90,0002 +5+55S 2,250
307 EI2H0IA 71,000 67,000 4,000
02 CIZFIAAIIEE 71,000 15,000 56,000
OX0HQ! HHEQIE DA 2(RES Ho)
10,000, 0002144 10,000
OFOHIEHH 2&2 AU PL(2XE HH)
6,000,0002!%1CH 6,000
ORI253 S =HHQAMSHS SHJHI(2XS
HoH) 40,000, 00081141 40,000
OR73| Y=4HIDE HIHHIHISHEI(EXE
FHo) 15,000, 00024 % 14} 15,000
EENEPEEE 448,000 433,000 15,000
307 EI2H0IA 448,000 433,000 15,000
04 DIZIEAFAFI B 448,000 433,000 15,000
ORI443] SZFARIMSHE] HEBL(BXS )
160,000, 0002 *14! 160,000
OR443] FFARDHSHE SHS NA(2ES Fo)
247,000, 0002 % 14! 247,000
ORI443 YZAIRMSHS SDSsD N (XS
HoH) 35,000,0002% 14} 35,000
ORI443 YFAIRIMSHS] &It 226 X
(2x8 H) 6,000,000 %14l 6,000
ZECOHSHEEIINE 354,000 354,000
307 EI2H0IA 354,000 354,000 0
02 QIZFIATAIIE R 354,000 354,000




2N MSHUED
HE: HSCITt DE(2SLBE/HIK)
el dsed & (Crel: &)
SA - B . SIS - NRAY - BaS ofl Ao ] HIS2
O GEEERNENEERIER )
334,000,000 % 14! 334,000
OM615l ZEZOIHSUS &It QRAl A
(X8 JM) 20,000,000 %14 20,000
SIEEER ENERE 120,000 90,000 30,000
307 Q1201 & 120,000 90,000 30,000
04 DIZFHATAIS B X 120,000 90,000 30,000
OAZD| =2 S HE X(BXS )
5,000,000 *24E2 120,000
e ECYEINEY 218,300 239,550 ~21,250
307 1201 & 182,300 239,550 57,250
02 CIFHAAII B 182,300 239,550 57,250
OB DS S0l SH (X8 M)
45,000, 00021% 14! 45,000
OIS S| ¢ FHAE2 SH(BX8 )
122,000, 00024+ 14! 122,000
OE2Y 2= MSUE &I 2 X (BX8 HH)
900,000 %103 9,000
OMB03| AESMAUSOE &It ZH| X (2X8
FoH) 6,300,0002/%13] 6,300
402 OIRIX=20IH 36,000 0 36,000
01 DIFIXZ A S (KA 36,000 0 36,000
OXI%AIE 2L HIHA ZHAIR(SES 90%)
36,000,000 % 14! 36,000
MEASXNCAZSA 4,500 4,500 0
307 Q1201 & 4,500 4,500
02 BIIHAAII B 4,500 4,500 0
OMEHSKICI 4DS L AIR2 S22
ot XQ(BXS HH)
900,000 *53] 4,500
EE ST 54,000 54,000
307 Q120 & 54,000 54,000 0
02 PIRFFANAIA B X 54,000 54,000
OZ=2Y MKW &It 2H N (BXS HH)
54,000,000 * 14! 54,000
NEERET B 13,100 13,100
307 Q1201 & 13,100 13,100 0
02 PIFAANAII B R 8,100 8,100
OF NES M2 &It XA(BXS HH)
6,300, 00021% 14! 6,300
OF=2 NEL HSHE &It N (BES FH)
1,800, 00024% 14l 1,800
04 DIZFHAIAIRI B X 5,000 5,000 0
OAl NEZ A3 HE KA(EXES HH)
5,000, 00094% 14! 5,000
M2 CIRIKISHE WX 506,000 296,000 210,000




FA HMSsHED
MM MS0lTe H(2IL2Z/HK)
ol M=sEdE A (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
201 L2 6,000 6,000
01 AFR2t2IH| 6,000 6,000 0
OX2U3 KX 6,000
—3==a M 50,000 %5IH*43)] 1,000
—E22 ME 5,000,000 %14l 5,000
307 I2t0| & 500,000 290,000 210,000
04 DIZFHAIAIRE X 500,000 290,000 210,000
OX=ete| MU X (BEE FHH)
290,000, 000! * 14! 290,000
OZE2 MESUaE SAU(EXS FH)
210,000,000 * 14! 210,000
N EINES SIS = =N 20,000 18,000 2,000
307 I2t0| & 20,000 18,000 2,000
02 QIZHHAIAII S X 20,000 18,000 2,000
OXIHEAIES ZSMEHSHS 2IF HH| X
(2x8 HY) 20,000,000 %13 20,000
e ENEESAE] 175,000 155,000 20,000
307 I2t0| & 175,000 155,000 20,000
02 QIZHHAIAIIE X 135,000 0 135,000
02023 BEHSAUMSHSUHE ZBIHEEE HY)
35,000,000 14! 35,000
ONI33s ZEZUMSRSUE HIEEE HY)
100,000, 00024+ 14! 100,000
04 QIZFSHAMAIR B &R 40,000 155,000 A115,000
02023 HFAl 1-2I2(REAE) S20E M
(2x8 ) 40,000,000 %14l 40,000
NEEEEPVERE] 20,000 40,000 A20,000
307 Q10| A 20,000 20,000 0
04 DIZFHALAIRE X 20,000 20,000 0
OAIBI A22DI0H3] HEl KR (BES o)
20,000,000+ 13 20,000
EEEIRES PN 11,800 11,800 0
307 QI2H0| & 11,800 11,800 0
02 QIZHHAAII B X 1,800 1,800
OZ=e0 26 =703 &0t 2| N (BExs
HoH) 1,800,000+ 14! 1,800
04 QIZFHAIAIR E X 10,000 10,000 0
OZ=20 XNE0A SRS HE(BZE HH)
10,000,000 14! 10,000
EEES I ENENE] 144,000 74,000 70,000
307 I2t0| & 144,000 74,000 70,000
04 CIZFHAIAIRE X 144,000 74,000 70,000
OMIB3] FZZI(0IAHY MEBHSESSQIEH
=R (ExE ZH)
15,000, 00024 14! 15,000




FA MSHSH
M HFTZet RE(2FHL2AZ/HK)
el dsed & (G2 &)
L5
S - B CRI(31) - AIRAIY - BAS 0 b ] ime=1
S EIEEEIENIEECERNEERNE
(X8 ZH) 20,000,0002* 14! 20,000
OM113] SFEIQMEA M50 NEWS
(BEx8 ) 23,000,000 * 14! 23,000
OR463| FFZI|QIMH B2E50! 2 02 HILIA
Hal(Bxs &)
20,000,0002* 14! 20,000
02023 SFZEI|QM=H H2LASEUE HE X
(2x8 HM)
66,000,0002* 14! 66,000
MERSTAEAHUHSIXK 70,000 69,000 1,000
307 2I2+0|& 70,000 69,000 1,000
04 CIZFHAIAIR B X 70,000 69,000 1,000
02023 LFAIQIXEHEDICHE HE(BES HM)
10,000,0002* 14! 10,000
ORM113| B2t D= JHE(EX8 HH)
60,000,0002* 14! 60,000
ZOIHSEESZCHOIAIEHY M2 AL0I203 70,000 70,000 0
307 2I2H0I & 70,000 70,000 0
04 DIZFHATAIZ B X 70,000 70,000
ORI255] 2RIHSTETZC O|AFEHH M= AI2THE
2 2023 OIAEIR AFE0! HE(EXS HH)
70,000,0002 % 14! 70,000
H22CUIXH 15,000 15,000
307 2I2H0I & 15,000 15,000 0
04 QIZFHATAIZ B X 15,000 15,000 0
ORB3| SHI2=EMIIE H2LH2EH3
(2x8 HY) 15,000,000 * 1Al 15,000
EEEIRIE=TENE] 10,000 5,000 5,000
307 2I2+0|& 10,000 5,000 5,000
04 QIZFHATAIZ B X 10,000 5,000 5,000
OZ=2DX S0 AFZABASIRI2| ) OF RS
(Ex8 HY) 10,000,000 * 1Al 10,000
HMIEAYE XA 20,000 8,000 12,000
307 2I2+0|& 20,000 8,000 12,000
04 QIZFHAIAIR B X 20,000 8,000 12,000
ORM103] AZHY M2 2HX|2ERHs] 2
RI63| ABHAHH MRQE EIQH(BXS M)
20,000,000 * 14! 20,000
RN 55,000 45,000 10,000
307 2I2H0| & 55,000 45,000 10,000
04 QIZFSHAIAIZI B X 55,000 45,000 10,000
OR203| AR 2SR5 Nzl XY
(BExX8 V) 55,000,000 14! 55,000
HFEAEI212T|0H3] X 30,000 30,000 0
307 2I2H0I & 30,000 30,000 0




FA HMSsHED
I HSelZel PEH(2IL2Z/MK)
ol M=sEdE A (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
04 DIZFHAMAFIE R 30,000 30,000 0
02023 A 2|3 Mz NS (22X FA)
30,000,000 * 14! 30,000
MY SE2SH 45,000 45,000
307 2I2H0|& 45,000 45,000 0
02 QB AAIIE X 45,000 45,000
OS] B52¢ SUXY(EXE FN)
7,500,000 65 = 45,000
OIRI2=01% 29 155,000 155,000
201 L2 HH 15,000 15,000 0
02 2329 15,000 15,000
O2% 0202 29 15,000
—&Ies 3,000,000+ 1 3,000
— ot R= 12,000,000 * 1€ 12,000
307 2I2H0| & 125,000 125,000 0
02 QIFAAAIRIE X 125,000 125,000
O2F 0IASs01E 2Y(2Xs )
125,000, 0002414l 125,000
ENEEEET] 15,000 15,000
01 Al&H] 15,000 15,000 0
O2% OlAS=0/Z HMHA MR
15,000,000 * 14! 15,000
IFALXTY 29 (IIETAY) 15,000 30,000 A 15,000
307 2I2H0I& 15,000 30,000 15,000
03 QIR B 2FHIE X 15,000 30,000 15,000
OgFdH|ZZARZXZY 29
15,000,000 14! 15,000
SIS (BHES) AZXSY2H (2IIEFRY) 20,000 20,000 0
307 2I2H0I& 20,000 20,000
02 QIFABAAIIE X 20,000 20,000 0
OYFATEHLIA AZX2Y 29
20,000,000 * 14! 20,000
B EYENENEENESE 122,112 118,565 3,547
p) 61,056
Al 61,056
307 2I2H0I & 122,112 118,565 3,547
p) 61,056
Al 61,056
02 QIFBAAIIE X 122,112 118,565 3,547
ON24! MEFISKISKE HHXI
2,544,000 +4 %+ 12 122,112
p) 61,056
Al 61,056
S EEFENENEEINESIE)) 274,752 266,771 7,981




2A: HKIED
M HFTZet RE(2FHL2AZ/HK)
ool XMsEP X4 (chel: =i
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
D] 137,376
Al 137,376
307 2I2H0I& 274,752 266,771 7,981
p) 137,376
Al 137,376
02 QIFAAAIRIE X 274,752 266,771 7,981
OANZMSHIS XIS A BRI
2,544,000 9%+ 12 274,752
p) 137,376
Al 137,376
(2)MOHOI M TS KIS A BHX] 30,528 29,642 886
p) 15,264
Al 15,264
307 2I2H0I& 30,528 29,642 886
p) 15,264
Al 15,264
02 QIFBAAIIE X 30,528 29,642 886
OZXOHQ! MEHSXITAF HHXI
2,544,000 % 12*122 30,528
p) 15,264
Al 15,264
(2)MEHSKCA 2=EFEE XL 2,080 2,025 55
p) 1,040
Al 1,040
307 2I2+0|& 2,080 2,025 55
p) 1,040
Al 1,040
02 DIEEAMAIIE X 2,080 2,025 55
OMEHSNET 2= 282 1
160,000 13213 2,080
p) 1,040
Al 1,040
B ESENERINE] 290,700 153,000 137,700
p) 203,490
[ 26,163
Al 61,047
307 2I2H0I & 290,700 153,000 137,700
p) 203,490
[ 26,163
Al 61,047
05 DIZIRIErS 290,700 153,000 137,700
OAZEAZ0I2A X
290,700,000 * 14! 290,700
p) 203,490




2A: HKIED
M Yoot PH(2ILAZ/AS)
el dsed & (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 26,163
Al 61,047
(2)=0IH= 100 M=dH 29 200,000 200,000 0
p) 160,000
Al 40,000
307 2I2+0| & 200,000 200,000 0
p) 160,000
Al 40,000
02 QIFABAAIIE X 200,000 200,000 0
O=0IHE00 SFEHBUISHEH 2
200,000,000 %14l 200,000
p) 160,000
Al 40,000
GRS 1,478,000 1,385,400 92,600
[ 158,000
Al 1,250,000
= 70,000
301 LEEXNS 1,478,000 0 1,478,000
[ 158,000
Al 1,250,000
= 70,000
2 0sEe - 2ESRSEAS 1,478,000 0 1,478,000
OXF2ERI IR 29
1,478,000,00024* 14! 1,478,000
[ 158,000
Al 1,250,000
= 70,000
(S)A2MEH S CAHDEN X 15,600 15,600 0
[ 4,680
Al 10,920
307 2I2H0I& 15,600 15,600 0
[ 4,680
Al 10,920
02 QIFABAAIIE X 15,600 15,600 0
OMESHISKEA DS X
100,000+ 13123 15,600
[ 4,680
Al 10,920
(S)HOHIMEHS XIS D SHIXIH 1,200 1,200 0
[ 360
Al 840
307 2I2+0|& 1,200 1,200 0
[ 360
Al 840




A H=dsh
e e PEEED
el dsed & (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
02 QIHEAMAMHEL 1,200 1,200 0
OFMHIMEHSA A WsSHl K&
100, 000&*1H*123] 1,200
< 360
Al 840
() MENEXNEX =YX 82,3% 8,640 73,754
& 4,620
Al 10,780
= 66,994
307 212t0]1 & 82,394 8,640 73,754
& 4,620
Al 10,780
= 66,994
02 QIHBAAMAEES 82,3% 8,640 73,754
OMEHSNEA = K&
82,394,000 14! 82,3%
& 4,620
Al 10,780
= 66,994
(D)MEHELNA2S X2 28,800 28,800 0
& 7,200
Al 21,600
307 2I2t0l ™ 28,800 28,800 0
& 7,200
Al 21,600
02 QIRHBAAIEE X 28,800 28,800 0
QdgHsIA(E2, HUA 5) 29
28,800,000 * 1Al 28,800
& 7,200
Al 21,600
(Z)GFABAOIRIEMN S HEI XA 240,000 240,000 0
& 30,000
Al 210,000
307 2IZt01 & 240,000 240,000 0
& 30,000
Al 210,000
04 QIZHHAIAIE 2 240,000 240,000 0
OIFAMADICIEE]
240,000,000 14! 240,000
& 30,000
Al 210,000
(Z)gF=HHIE= LU=l 60,000 60,000 0
& 10,000
Al 50,000




M MEXE
M H=soZ
30:1

el dsed & (G2 &)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
307 BI2FOId 60,000 60,000 0
== 10,000
Al 50,000
04 SIIHAIAIIE X 60,000 60,000 0
ONl43l SFAHIH &= LEIRHE]
60,000,0002% 14! 60,000
== 10,000
Al 50,000
EEETERIE 78,000 0 78,000
307 BI2H0I™ 78,000 0 78,000
04 BIZFHAIAIIE R 78,000 0 78,000
02023 ZA=CNS2AI| HASHE Ml X
(X8 ) 78,000,000 %14 78,000
BEEEE=ETEINE] 45,000 0 45,000
307 BI2rOI™ 45,000 0 45,000
04 BIZIHAIAIIE X 45,000 0 45,000
ONI133] SSHHSSR2 J2t2EBTHS| HE
XN (BEE FH)
45,000,000 14! 45,000
(2RI AZZLE0IZA K 45,600 0 45,600
pJ 31,920
== 4,104
Al 9,576
307 BI2HOI™ 45,600 0 45,600
pJ 31,920
= 4,104
Al 9,576
05 DIRIEZ 45,600 0 45,600
OFOHRAAZ=AR0IBH X2
45,600,0002!x 14! 45,600
pJ 31,920
== 4,104
Al 9,576
(Z)ZOHIMEHSXIEA S X 600 0 600
= 180
Al 420
307 BI2HOI™ 600 0 600
== 180
Al 420
02 QIIHAARIE R 600 0 600
OFOH! MEHSX X 2549 X
600, 0002 *14! 600
== 180
Al 420




A MEHED
M HIOI2AIE 2el(2eL2E/ M)
2l HIOIZAIE 2]

S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
HIOISAIE 22l(2eL2Z/HIK) 464,261 329,552 134,709
FNEREEE] 464,261 329,552 134,709
AFAl HEHBY 29 178,017 243,496 A65,479
101 Q124H] 61,263 52,762 8,501
M IIRIR22ISES 61,263 52,762 8,501
OYFAl HEHBH ZEXEA oA 22|
61,263
-J|23(HY) 76,960 x2% % 1602 24,628
—J123(5Y) 115,44021%x23Hx 116 26,783
= 76,9602 x2 2 *522 8,004
—ARSEINLY
76,9602 x2%» 12 1,848
201 L2 A 65,054 48,934 16,120
01 AFR2t2IHI 6,044 5,004 1,040
OYFAl HEHBH 22 6,044
—2IUEN A AIREE P
70,0002 %122 840
—TENRY TRE E 7
400,000 % 1CH 400
—XHE) QHNEE #40t HIF
60,0002 10% 600
—TEHBY 2HE L Y AR
500,000 % 14! 500
—MYD | BHHEE P
1,400 *201* 180 504
RS QHY BE3 JIZ
2,000,000 % 14! 2,000
—3EA HARE 7Y
100,000 % 12 1,200
02 2Z29H| 59,010 43,930 15,080
OYFAl AHENHBY 29 30,610
—&JIes 700,000+ 122 8,400
—AEIEER2 100,000 %12 1,200
—2INEA 22l
10,0002 %500+ 12IH = 6,000
—22XEH $2(EIIREH)
10,0002%50CH* 12002 6,000
—S3 AN EE 35,000=%250CH 8,750
—THEHHO A WD HA
130,000 1CH+23 260
OZ2XEHNRIHHAI A 2 28,400
—&Ie3 15,0007 A* 122 1,260
—QIHUIANEZ 70,0002 %7 H A* 122 5,880
—EUES 242
15,000=*7H A 128 1,260
—ANAE SX|E4 20,000,000 * 14! 20,000




A

H=ES

I HIO|TAIL 2e(23L2AR/HR)
ch?l: HIOIZAIE 2el (CHl: X 21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
206 M=l 7,200 4,800 2,400
01 XHEHl 7,200 4,800 2,400
OXEN 2|22 30,000 %20=* 12 7,200
ENEEEENT] 30,000 65,000 35,000
01 Al&H] 30,000 65,000 35,000
ORENBE AE2 SXB%
30,000,000 %14l 30,000
405 KHAHF EH 14,500 22,000 A7,500
01 AL S EF SH] 14,500 22,000 A7,500
O3s3s/EAH 2 350,000 *20CH 7,000
OMIINEA 2 1,500,000 *5CH 7,500
NEHEZ HES 286, 244 86,056 200, 188
101 2124t 19, 164 32,976 13,812
M IIHR22EES 19, 164 32,976 A13.812
OHIOIAE 2 22| L PoeX| IHAH HH| 18
19, 164
—Jl2s 76,9602« 12200 15,392
—F5LG 76,9602 12 +40 3,079
—ARRSENLY
76,9602+ 1H»9 693
201 LBt Y 6,160 6,160 0
02 2=229H| 6,160 6,160
Odto|aE e 2 HE A2
50,0002 +5 A 122 3,000
Otto| gz HC2X A2R2
400,0002/ %13 400
Otto| ez HH SHEA 2ha)
200,000 * 174 A#33] 600
OSMBRENE A 2hs)
100, 0004 +47H A#33 1,200
OSMAZHNY M| Y 293
20,0002 44 A 122 960
206 M=l 1,920 1,920 0
01 XHEHl 1,920 1,920 0
OHto|AE 2 HE SIRAZE o
80,0002 %12 960
OSMRABHNE FIRARE 22
80,0002 % 12 960
401 AIAEHI 220 259,000 45,000 214,000
01 Al&H] 259,000 45,000 214,000
OHIO|TEEZ AIAZ2 HWBLZAF
40,00021%2,500m 100,000
OSMBBHHE ALZ HBLBA
5,000, 0002 %47 A 20,000




2A:

H=ES

A HI0IZAIE 22 (2FL2E/R)
Sl HIOI3AIE 2l (CHo: X 2l)
S - B CRI(31) - AIRAIY - BAS 0 b ] HID=2t
Ot 22z & AIE2 HEFTSAL
,000,000& *4JH 2~ 20,000
ONABEXIY 28X T2 BIRE0| ZH AXIZ2A
80, 0003 *250m 20,000
O24H £ ¥ MRS 2Y2(H325)
QUAHIOI ZEBA
10,000& 3,000 m* 30,000
Otlo|2 =2 ZH0|
23,000, 000&*32] 69,000
Aol2sa2e|(2sY22/H=) 621,148 458,745 162,403
S0IXSHEH 22l 56,454 49,825 6,629
=0IMSHE Al&2e 50,454 44,825 5,629
101 124b| 4,618 4,397 221
04 JIZtNI2 2 XS E S 4,618 4,397 221
OINEME S EFYI
76,9603 x2H 30 4,618
201 LBH23d| 45,836 40,428 5,408
02 3323H| 45,836 40,428 5,408
OE%A d24D| A2
3,000,000 *1CH 3,000
O24=280| Hi2 SXI2el
200,000 & *5IH 2~ 1,000
OHEIIANE 25 WA 2,000,000 %1 Al 2,000
OJIA, £d| vt
2,000,000 14! 2,000
O3 MNEZ HIIHEBH HAF =22
5,000,000& *23] 10,000
OoXZm, SeEdl 22 A
500,000 %5 2,500
OM=x 4 1,000,0002* 174 A+23] 2,000
Ode)] AZHI(ER)
1,810 %70 £ x8A|2H10 10,136
O2gd A =2 100,000 %13 100
OM=Z LA 2282
100,000& 13 100
OdlH 22 HIIEH L B
2,000,000 *2CH 4,000
O A= g 1,000,000 23] 2,000
OASAIEEHl FRI2t2]
2,000,000 =114 2,000
OFI| £or8y| JUEH
5,000,000 14! 5,000
HERHIS2 A2 6,000 5,000 1,000
201 LEr23Y| 6,000 5,000 1,000
02 2323l 6,000 5,000 1,000
OMIINE FANE= 2,000,000 %1 Al 2,000




2N HSHNED
Hu: AQISSXR|(SSIURZ/HS)
oelr ZCIXNSFHE 2t CEEEED
5 SIE
S - FE - SRI(B) - HIRARY - BAS Ol &k e Hlms2
OJIH, 201 i sAZcl
500, 00024 %274 4 1,000
OA=g FAlzel 3,000,00024% 14! 3,000
HMSAE2e] 564,604 408,920 155,774
NEE= S 277,276 265,344 11,932
201 Jer=2g| 274,966 263,034 11,932
01 AFR2relH] 6,722 6,722 0
OSIFAEE 2
50, 00024+ 122404 A 2,400
OMEDIZZHES P
1,68021% 100K+ 140 2,352
ONBI2=H H§=2D| 7
70,00024+3Z+63) 1,260
OANBISEH H4)| B
30,00021% 122 360
OJIH2 2R HE e
70,0002 %55 350
02 ZZ2H| 268,244 256,312 11,932
OALIHIOIEl RXIZH2| T3
220,0002+2CH* 122 5,280
OAgAlE SEEUNA
1,000, 00021 *574 A 5,000
OAYAIE BSI|ISHZ
1,000, 00021 %504 4 5,000
OARAIE BARKI TRl 3
125, 0002 %50 A x 128 7,500
O &Y SRz
1,800,00024* 14! 1,800
OgsAg A2+ 2,400,00024 %14} 2,400
OFZI|& Nas 22 uH|
500, 0002 +5% 2,500
OXIIdll 25 1A 100, 0002 +20% 2,000
OS2 |XI2el
1,000,00024* 14! 1,000
Odstl A=t 2,0002*2,000kg*2L 8,000
OldamA 22U HZH|(AUHSR)
1,33021%2,000 £ *52 13,300
O% - BH®A DRI SR
1,000,00024* 14! 1,000
OZFZ= AHaE 2 ®Epe
4,500,000 *13] 4,500
OS=x Z# S ZHD| &Y
5,000,000 *23] 10,000
O3tEAl F===tf2t 2e| 200,000 x44] 800
Odstea & RERF 50,000+ 122 600
OFIIQS(Lerue)
12,900,0002* 122 154,800




2A:

M A2sSFH2(SFL2E/AR)
=2l MsAIE2tel (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O&EI|IZ(AotE) 900, 000&*12& 10,800
O&IIRB(IIRE) 45,0002 +12& 540
OIS (LBHH ) 350,0002* 122 4,200
O&ot=ER3 1,900,000+ 122 22,800
OREYS AIZ2Z 34,1002 128 410
OAYtMA 3| 50,00020%13 50
OdEEI =2l H3Y| 100,000 %13 100
OfIg=2el Xt H3lH] 36,000&*13] 36
OXtE &I1Z8l HIIZA
2,000,000& 14! 2,000
O4dstli 28z 100,000 %13 100
OARIZ2SE A= &A
36,0003 *43|x12& 1,728
206 =4l 2,310 2,310 0
01 TH=Z= 4| 2,310 2,310
OFZI|& &2l Iz
10,000 x50 1L 500
O=ZJ|& &j2e8 5% 1Y
6,000 *35+20H 360
OAld2te| &+ 7¢
10,0002%20F+23] 400
OZ LRI ZU+e
7002 %2506 1,050
MEHISAlH2e 287,418 143,576 143,842
101 2124b| 28,938 34,296 ANb5,358
04 D122 2R SE+ 28,938 34,296 Ab5,358
OAlgI2sE sH3E| 28,938
—Jlzs 76,9603 x2H 180 27,706
—g Xt 76,9602 x23Hx8 1,232
201 B3| 8,480 5,480 3,000
02 3323l 8,480 5,480 3,000
OMEHISZ MI|&Hl X 2%
1,500, 000&*23| 3,000
OdE=2 DI, S it |X 2+
1,000,000 *14] 1,000
OHMETEH A5 2A
1,000,000 *23] 2,000
OFslx HA 12,0002 %40 480
OANRIz2SE HEZ R 22l
2,000,000 14! 2,000
401 Al&HIZL0HY| 250,000 103,800 146,200
01 Al&H| 250,000 103,800 146,200
OFZAIIE &I HHE, 2 Y 24
14,000, 0002 *14] 14,000




A

M. AD2sSHAL(2SL2E/HF)
=l HSAIE2 (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OAIBI2EE AEZ2 |XI B
10,000, 0002 %47 A 40,000
OZJIHSIE AEE X B4
5,000,000 * 14! 5,000
OXAAIE ST 25
20,000,000 * 14! 20,000
OMSHIST Q4B AZ ZA
20,000,000 * 14! 20,000
OAlRI2EE W ZAX MXIEH
20,000,0002 % 14! 20,000
O=CIHSHE OI2HE BSHE MY
500,000 242 12,000
OXAAIE Y Z7E SRS Al
7,000,000+ 175 119,000
HYSHAY|(HSES W) (JIEHIIE 145,782 143,142 2,640
DIEEEE] 145,782 143,142 2,640
DIE=E=EE] 145,782 143,142 2,640
201 L2 A 53,262 50,622 2,640
01 AbR2t2IHI 53,262 50,622 2,640
OSAEX 7Y 20,0002 *228 A% 128 5,280
OS201Alb] 8,000 R *6A!x22 X 122 12,672
Ogbteg 100,000 * 122 1,200
OAR2 TN 50,000 122 600
OARR4HH 10,290
—SADI(UE) =2l
1,000,000241.5CH 1,500
—Z2IE =2l 100, 0002 *x5CH*50% 250
—=SADI EH 200,000 %53 1.5CH 1,500
—Z2IE EU(S)
200, 0002 %53 *5H 5,000
—O2IH EH(ZH)
200,000 %53+ 1CH 1,000
—PC =2l 100, 0002 *22CH+20% 440
—JIEt 22| 50,00081* 12 600
OJIEF AFR22lH] 5,000 %22 %122 1,320
Ol 21,900
—=X 2 AU-GE)
60,0002 %1 H 3652 21,900
202 04| 87,120 87,120
01 =LA 87,120 87,120 0
O2LH04d] 20,0002 x22H*122x 122 63,360
OZ2|04H| 90,000 223 x 122 23,760
203 L2EZIH 4,200 4,200 0
04 ENSHADLEZEIH 4,200 4,200 0
A2 HRFE| 350,000 %12 4,200
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